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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] 

vU;Fkk ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA 

ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 

ANSWER SHEET)esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy 

fd;s x;s ÁFker% ;Fkk fufnZ”V Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 

tc rd dgk u tk;] bl Á’uiqfLrdk dks u [kksysa 
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1. Aristotle was born in : 
(A) 430 B.C. 
(B) 429 B.C. 
(C) 384 B.C. 
(D) 301 B.C. 

 1. vjLrw dk tUe gqvk % 

(A) 430 bZŒiwŒ esa 

(B) 429 bZŒiwŒ esa 

(C) 384 bZŒiwŒ esa 

(D) 301 bZŒiwŒ esa 
2. Who was a mentor of Aristotle ? 

(A)   Socrates  
(B) Plato 
(C) Garner 
(D) Cicero 

 2. vjLrw dk iFk izn’kZd dkSu Fkk \ 

(A) lqdkjr  

(B) IysVks 

(C) xkuZj 

(D) flljks 
3. Who among the following is called 

Father of Political Science ? 
(A)   Garner 
(B) Plato 
(C) Marx 
(D) Aristotle 

 3. fuEufyf[kr esa ls fdls jktuhfr foKku dk 
tud dgk tkrk gS \ 
(A) xkuZj  
(B) IysVks 
(C) ekDlZ 
(D) vjLrw 

4. Select thecorrect chronological 
order of the following political 
thinkers :  
(A)   Aristotle, Socrates, Plato, 

Hobbes 
(B) Socrates, Aristotle, Hobbes, 

Plato 
(C) Hobbes, Socrates, Plato, 

Aristotle 
(D) Socrates, Plato, Aristotle, 

Hobbes 

 4. fuEufyf[kr jktuhfrd fopkjdksa dk muds 
le;kuqlkj lgh Øe dk p;u dhft, % 
(A) vjLrw] lqdjkr] IysVks] gkWCl 
(B) lqdjkr] vjLrw] gkWCl] IysVks 
(C) gkWCl] lqdjkr] IysVks] vjLrw 
(D) lqdjkr] IysVks] vjLrw] gkWCl 

5. Who is the author of “Politics” ? 
(A)   Aristotle 
(B) Plato 
(C) Hegel 
(D) J.S. Mill 

 5. ^^ikWfyfVDl** ds jpukdkj dkSu gS \ 
(A) vjLrw 
(B) IysVks 
(C) ghxy 
(D) tsŒ,lŒ fey 
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6. Who was adopted “In ductive 
Method” ? 
(A)   Plato 
(B) Aristotle 
(C) Cicero 
(D) Marx 

 6. ^vkxeukRed i)fr* dks fdlus viuk;k \ 

(A) IysVks 

(B) vjLrw 

(C) flljks 

(D) ekDlZ 

7. Which of the following is not a 
theory of Aristotle ? 
(A)   Theory of Ideal state 
(B) The Principle of Mixed 

Constitution  
(C) Game theory 
(D) Doctrine of Golden Mean 

 7. fuEufyf[kr esa ls dkSu lk ,d fl)kUr 

vjLrw dk ugha gS \ 

(A) vkn’kZ jkT; dk fl)kUr 

(B) fefJr lafo/kku dk fl)kUr 

(C) [ksy fl)kUr 

(D) Lof.kZe e/;eku dk fl)kUr 

8. Slavery is natural. This was 
accepted by :  
(A)   Hegel 
(B) Laski 
(C) Aristotle 
(D) Hitler 

 8. 
 
 

nklrk izkÑfrd gSA ;g ekuuk Fkk % 

(A) ghxy dk 

(B) ykLdh dk 

(C) vjLrw dk 

(D) fgVyj dk 

9. “The State is prior to individual.” 
Who said it ? 
(A)   Aristotle 
(B) Locke 
(C) Plato 
(D) Marx 

 9. ^^jkT; O;fDr ls iwoZorhZ gSA** ;g fdldk 

dFku gS \ 

(A) vjLrw 

(B) ykWd 

(C) IysVks 

(D) ekDlZ 
10. Who gave the theory of 

‘Distributive Justice’ ? 
(A)   Aristotle 
(B) Plato 
(C) Socrates 
(D) Hobbes 

 10. ^forj.kkRed U;k;* dh vo/kkj.kk 

fuEufyf[kr esa ls fdlus nh \ 

(A) vjLrw 

(B) IysVks 

(C) lqdjkr 

(D) gkWCl 
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11. Who wrote “A citizen is a person 
who has the power to take part in 
the deliberations and judicial 
administration of any state” ? 
(A)   Aristotle 
(B) Hegel 
(C) Plato 
(D) Locke 

 11. fdlus fy[kk ^^tks O;fDr LFkk;h :i ls U;k; 

ds iz’kklu esa rFkk jktdh; inksa dks xzg.k 

djus dh ;ksX;rk ;k {kerk j[krk gS] ogh 

ukxfjd gS** \ 

(A) vjLrw 

(B) ghxy 

(C) IysVks 

(D) ykWd 

12. “The state comes into existence for 
the sake of life and continues for 
the sake of good life.” Who among 
the following gave this statement ?   
(A)   Green 
(B) Marx 
(C) Maciver 
(D) Aristotle 

 12. ^^jkT; dk mn; thou ds fy, gqvk vkSj 

lnthou ds fy, mldk vfLrRo cuk gqvk 

gSA** ;g dFku fuEufyf[kr esa ls fdl 

fopkjd us fn;k \ 

(A) xzhu 

(B) ekDlZ 

(C) eSdkboj 

(D) vjLrw 
13. According to Aristotle : 

(A)   Man is by nature a political 
animal. 

(B) Man is by nature not a 
political animal. 

(C) Both of above 
(D) None of the these 

 13. vjLrw ds vuqlkj % 

(A) euq”; LoHkkor% ,d jktuhfrd izk.kh 

gSA 

(B) euq”; LoHkkor% ,d jktuhfrd izk.kh 

ugha gSA 

(C) mi;qZDr nksuksaA 

(D) buesa ls dkssbZ ugha 
14. Who among the following has laid 

emphasis on ‘Quality of 
Citizenship’ ? 
(A)   Hobbes 
(B) Aristotle 
(C) Machiavelli 
(D) None of these 

 14. fuEufyf[kr esa ls fdl fopkjd us 

^ukxfjdrk dh xq.koÙkk* ij fo’ks”k cy fn;k\ 

(A) gkWCl 

(B) vjLrw 

(C) eSfd;koyh 

(D) buesa ls dksbZ ugha 
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15. Match the books and their authors 
and tick the correct option : 

 Books Authors 
1. A fragment on 

Government 
(I)J.S. Mill 

2. On Liberty (II) Bentham 
3. Discourses (III) Marx 
4. Poverty of 

Philosophy 
(IV)Machiavelli 

Options : 
(A) 1-II 2-IV 3-I 4-III 

(B) 1-I 2-II 3-III 4-IV 

(C) 1-IV 2-III 3-II 4-I 

(D) 1-II 2-I 3-IV 4-III 
 

 15. iqLrdksa ,oa muds ys[kdksa dks lqesfyr 

dhft, rFkk lgh fodYi dk p;u dhft, % 
 iqLrdsa ys[kd 
1. , ÝSxes.V vkWu 

xoZues.V 
(I)tsŒ,lŒfey 

2. vkWu fycVhZ (II)csaFke 
3. fMLdkslsZt  (III)ekDlZ 
4. ikoVhZ vkWQ fQykWLQh (IV)eSfd;koyh 

fodYi % 
(A) 1-II 2-IV 3-I 4-III 

(B) 1-I 2-II 3-III 4-IV 

(C) 1-IV 2-III 3-II 4-I 

(D) 1-II 2-I 3-IV 4-III 
 

16. Dark Ages of political thought is : 
(A)   Ancient Political Thought 
(B) Medieval Political Thought 
(C) Modern Political Thought 
(D) Contemporary Political 

Thought 

 16. jktuhfr & fparu dk vU/kdkj ;qx gS % 

(A) izkphu jktuhfrd fparu 

(B) e/;;qxhu jktuhfrd fparu 

(C) vk/kqfud jktuhfrd fparu  

(D) ledkyhu jktuhfrd fparu 

17. Which amongst the following is 
the characteristic of medieval 
political thought ? 
(A)   Dominance of ecclesiastical 

issues    
(B) Roll of feudalism  
(C) Controversy between church 

and state  
(D) All of above 

 17. fuEufyf[kr essa ls dkSu e/;;qxhu jktuhfrd 

fparu dh fo’ks”krk gS \ 

(A) /kkfeZd fo”k;ksa dh iz/kkurk 

(B) lkearokn dh Hkwfedk 

(C) ppZ vkSj jkT; dk fookn 

(D) mi;qZDr lHkh 

18. Who is the writer of “De 
Legibus”? 
(A)   Aquinas 
(B) Bodin 
(C) Cicero 
(D) Durkheim 

 18. “De Legibus” ds ys[kd dkSu gS \ 
(A) ,Dohukl 
(B) cksnka 
(C) flljks 
(D) nq[khZe 
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19. According to Aristotle : 
(A)   State is a natural institution 
(B) State is an artificial 

institution 
(C) State is a divine institution  
(D) State is created by force 

 19. vjLrw ds vuqlkj % 

(A) jkT; ,d izkÑfrd laLFkk gS 

(B) jkT; ,d vizkÑfrd laLFkk gSA 

(C) jkT; ,d nSoh; laLFkk gSA 

(D) jkT; ‘kfDr ls mRiUu laLFkk gSA 

20. When was cicero born ? 
(A)   106 BC 
(B) 43 B C 
(C) 22 BC 
(D) 11 BC 

 20. flljks dk tUe dc gqvk Fkk \ 

(A) 106 bZŒiwŒ 

(B) 43 bZŒiwŒ 

(C) 22 bZŒiwŒ 

(D) 11 bZŒiwŒ 

21. How many kinds of law has 
Aquinas described in his book ? 
(A)   1 
(B) 3 
(C) 4 
(D) 6 

 21. ,fDoukl us viuh Ñfr esa dkuwu ds fdrus 

izdkj dk o.kZu fd;k gS \ 

(A)   1 
(B) 3 
(C) 4 
(D) 6 

22. Who wrote ‘Summa Theologica’ ? 
(A)   Bodin 
(B) Hegel 
(C) Locke 
(D) St. Thomas Aquinas 

 22. ^^lqEek fFk;ksyksftdk** fdlus fy[kh \ 

(A) cksnka 

(B) ghxy 

(C) ykWd 

(D) lUr Fkkel ,fDoukl 

23. Which of the following is not 
included in ‘St. Thomas Aquinas’ 
Concept of Law ? 
(A)   Eternal Law 
(B) Natural Law 
(C) Power Law 
(D) Human Law 

 23. lUr Fkkel ,fDoukl ds dkuwu vo/kkj.kk esa 

dkSu lk ,d lfEefyr ugha gS \ 

(A) ‘kk’or dkuwu 

(B) izkÑfrd dkuwu 

(C) ‘kfDr dkuwu 

(D) ekuoh; dkuwu 
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24. ‘Polis’ is a Greek word which 
means : 
(A)   State 
(B) Nation State 
(C) City State 
(D) Police State 

 24. ^iksfyl* ,d ;wukuh ‘kCn gS ftldk vFkZ gS % 

(A) jkT; 

(B) jk”Vª jkT; 

(C) uxj jkT; 

(D) iqfyl jkT; 

25. The alternative to socialism in 
Gandhi’s Philosophy is : 
(A)   Sarvodaya  
(B) Trust holding 
(C) Panchayat Raj 
(D) Truth and non-violence  

 25. xk¡/kh n’kZu esa lektokn dk fodYi gS % 

(A) loksZn; 

(B) U;kl /kkfjrk 

(C) iapk;r jkt 

(D) lR; vkSj vfgalk 

26. Who among the following is called 
the first modern political thinker ?  
(A)   Plato 
(B) Rousseau 
(C) Karl Marx 
(D) Machiavelli  

 26. fuEufyf[kr esa ls fdls izFke vk/kqfud 

jktuhfrd fopkjd dgk tkrk gS \ 

(A) IysVks 

(B) :lks 

(C) dkyZ ekDlZ 

(D) eSfd;koyh 
27. Who wrote “The Prince” ? 

(A)   Green 
(B) John Locke 
(C) Marx 
(D) Machiavelli 

 27. ^n fizal* fdlus fy[kk Fkk \ 

(A) xzhu 

(B) tkWu ykWd 

(C) ekDlZ 

(D) eSfd;koyh 
28. “The brilliant Florentine was in the 

fullest since, the child of his time.” 
This statement is related to : 
(A)   Hegel 
(B) Machiavelli 
(C) Hobbes 
(D) Green 

 28. ^^;g izfrHkk’kkyh Iyksjsaloklh okLrfod vFkksZ 

esa vius ;qx dk f’k’kq FkkA** mDr dFku 

lacaf/kr gS % 

(A) ghxy 

(B) eSfd;koyh 

(C) gkWCl 

(D) xzhu 
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29. Which among the following 
statement is true ?  
(A)   According to Machiavelli 

politics have no relation to 
morals. 

(B) According to Machiavelli 
politics have a good relation 
to religion. 

(C) Machiavelli was a great 
thinker of America. 

(D) Machiavelli was born in 
19thcentury. 

 29. fuEufyf[kr esa ls dkSu lk dFku lR; gS \ 

(A) eSfd;koyh ds vuqlkj jktuhfr ls 

uSfrdrk dk dksbZ laca/k ugha gSA 

(B) eSfd;koyh ds vuqlkj jktuhfr ls /keZ 

dk ,d vPNk laca/k gSA 

(C) eSfd;koyh vesfjdk dk ,d egku 

nk’kZfud FkkA 

(D) eSfd;koyh 19 oha lnh esa iSnk gq, FksA 

30. Machiavelli supports : 
(A)   Tyranny 
(B) Absolute Monarchy 
(C) Aristocracy 
(D) Democracy 

 30. eSfd;koyh leFkZd gS % 

(A) rkuk’kkgh dk 

(B) iw.kZlÙkkoknh jktra= dk 

(C) dqyhura= dk 

(D) yksdra= dk 
31. The supporter of “Might is right” 

is : 
(A)   Plato 
(B) Aristotle 
(C) Machiavelli 
(D) Marx 

 31. ^’kfDr gh lR; gS* dk leFkZd gS % 

(A) IysVks 

(B) vjLrw 

(C) eSfd;koyh 

(D) ekDlZ 

32. “A man more readily forgives the 
murderer of his father than the 
confiscator of his property.” 
Whose statement is this ? 
(A)   Hobbes 
(B) Machiavelli 
(C) Marx 
(D) Bentham 

 32. ^^,d O;fDr viuh lEifÙk Nhuus okys dh 

vis{kk vius firk ds gR;kjs dks vf/kd 

lqxerk ls {kek dj nsrk gSA** ;g dFku 

fdl fopkjd dk gS \ 

(A) gkWCl 

(B) eSfd;koyh 

(C) ekDlZ 

(D) csUFke 
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33. The concept of ‘Statecraft’ was 
given by : 
(A)   Green 
(B) Rousseau 
(C) Hobbes 
(D) Machiavelli 

 33. ^jkT;dyk* dk fopkj fn;k x;k % 

(A) xzhu }kjk 

(B) :lks }kjk 

(C) gkWCl }kjk 

(D) eSfd;koyh }kjk 

34. The credit for separating religion 
from politics goes to :  
(A)   Marx 
(B) Green 
(C) Bodin 
(D) Machiavelli 

 34. /keZ dks jktuhfr ls ìFkd djus dk Js; gS % 

(A) ekDlZ dks 

(B) xzhu dks 

(C) cksnka dks 

(D) eSfd;koyh dks 

35. Which one of the following 
political thinkers was the first 
exponent of the liberal theory of 
state ? 
(A)   John Locke 
(B) T. H. Green 
(C) Marx 
(D) None of these 

 35. fuEufyf[kr jktuhfrd fopkjdksa esa ls 

fdlus loZizFke jkT; ds mnkjoknh fl)kUr 

dh O;k[;k dh \ 

(A) tkWu ykWd 

(B) VhŒ,pŒ xzhu 

(C) ekDlZ 

(D) buesa ls dksbZ ugh 

36. Which among the following 

statement is true ? 

(A)   Liberalism is combination of 

democracy and individualism 

(B) Liberalism is combination of 

communism individualism 

(C) Liberalism is combination of 

socialism and pluralism  

(D) Liberalism is combination of 

individualism and Marxism  

 36. fuEufyf[kr esa ls dkSu lk dFku lR; gS \ 

(A) mnkjokn yksdra= o O;fDrokn dk 

feJ.k gS  

(B) mnkjokn lkE;okn o O;fDrokn dk 

feJ.k gS 

(C) mnkjokn lektokn o cgqyokn dk 

feJ.k gS 

(D) mnkjokn O;fDrokn o ekDlZokn dk 

feJ.k gS  
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37. Which among the following is not 
true between ‘Positive’ and 
‘Negative’ liberalism ? 
(A)   Both favour liberty  
(B) Both oppose liberty 
(C) Positive liberalism favours 

restrained liberty whereas 
negative liberalism favours 
absolute liberty. 

(D) All of the above are not true  

 37. ^ldkjkRed* rFkk ^udkjkRed* mnkjokn ds 

laca/k essa fuEufyf[kr esa ls D;k lR; ugha gS\ 

(A) nksuksa gh Lora=rk ds leFkZd gSaA 

(B) nksuksa gh Lora=rk ds fojks/kh gSaA 

(C) ldkjkRed mnkjokn izfrcaf/kr 

Lora=rk dk i{k/kj gSA tcfd 

udkjkRed mnkjokn iw.kZ Lora=rk dk 

i{k/kj gSA 

(D) mi;qZDr lHkh dFku vlR; gSA 

38. Who among the following was the 
main exponent of ‘Negative 
Individualism’ ? 
(A)   T.H. Green 
(B) Adam Smith 
(C) Laski 
(D) All of these 

 38. ^udkjkRed O;fDrokn* dk izcy leFkZd 

fuEufyf[kr esa ls dkSu Fkk \ 

(A) VhŒ ,pŒ xzhu 

(B) ,Me fLeFk 

(C) ykLdh 

(D) ;s lHkh 

39. Liberalism favours which type of 
Government ? 
(A)   Monarch 
(B) Military Rule 
(C) Aristocratic Government  
(D) Democratic Government  

 39. mnkjokn fuEufyf[kr esa ls fdl izdkj dh 

‘kklu i)fr dk leFkZu djrk gS \ 

(A) jktra=kRed 

(B) lSU; ‘kklu 

(C) dqyhura=h; ljdkj 

(D) iztkrkfU=d ljdkj 

40. Liberalism wants the welfare of : 

(A)   The elites 

(B) The rich 

(C) The poor 

(D) Every individual 

 40. mnkjokn fgr pkgrk gS % 

(A) vfHktu dk 

(B) /kuoku dk 

(C) fu/kZu dk 

(D) izR;sd O;fDr dk 
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41. Who among the following has 
written ‘The Man Versus the 
State’ ? 
(A)   Green 
(B) J. S. Mill 
(C) Herbert Spencer 
(D) Bentham 

 41. fuEufyf[kr esa ls fdlus ^n eSu olsZt n 

LVsV* ¼euq”; cuke jkT;½ xzUFk dh jpuk 

dh\ 

(A) xzhu 

(B) tsŒ ,lŒfey 

(C) gcZVZ LisUlj 

(D) csUFke 

42. ‘Theory of Social Evolution’ is 
associated with the name of which 
of the following thinkers ? 
(A)   Herbert Spencer 
(B) David Easton 
(C) J. K.  Galbraith 
(D) Machiavelli 

 42. ^lkekftd fodkl dk fl)kUr* fuEufyf[kr 
esa ls fdl fopkjd ds uke ds lkFk tksM+k 
tkrk gS \ 
(A) gcZVZ LisUlj 
(B) MsfoM bZLVu 
(C) ts0dsŒ xsyczSFk 
(D) eSfd;koyh 

43. Who among the following is main 
critique of liberalism ? 
(A)   John Locke 
(B) J.S. Mill 
(C) Admund Burke 
(D) Prof. Hob house 

 43. fuEufyf[kr esa ls mnkjokn dk izeq[k 
vkykspd dkSu gS \ 
(A) tkWu ykWd 
(B) tsŒ ,lŒ fey  
(C) ,Me.M cdZ 
(D) izksŒ gkWc gkml 

44. Who is the author of ‘On liberty’ ? 
(A)   Hegel 
(B) Marx 
(C) James Mill 
(D) J. S. Mill 

 44. ^vkWu fycVhZ* ds ys[kd dkSu gS \ 
(A) ghxy  
(B) ekDlZ 
(C) tsEl fey 
(D) tsŒ ,l0 fey 

45. Bentham’s book published in 1776 
was : 
(A)   Fragments on Government 
(B) Manual of political Economy  
(C) Principle of International 

laws  
(D) None of these 

 45. 1776 esa izdkf’kr csaFke dh iqLrd dk uke 
gS% 
(A) ÝSxeSaVl vkWu xoZues.V 
(B) eSuwvy vkWQ iksfyfVdy bdksukseh 
(C) fizafliy vkWQ b.Vjus’kuy ykWt 
(D) buesa ls dksbZ ugha 
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46. ‘Maximum happiness of maximum 
number’ is the basis of : 
(A)   Spencer’s thoughts 
(B) Bentham’s thoughts 
(C) Marx’s thoughts 
(D) Hegel’s thoughts 

 46. ^vf/kdre la[;k dk vf/kdre lq[k* fdlds 

fparu dk vk/kkj gS % 

(A) LisUlj dk 

(B) csaFke dk 

(C) ekDlZ dk 

(D) ghxy dk 
47. According to Bentham sovereign 

ruler of man are : 
(A)   Pleasure 
(B) Pain 
(C) Both 
(D) None of these 

 47. csaFke ds vuqlkj euq”; ds lkoZHkkSe ‘kkld gS 

% 

(A) lq[k  

(B) nq%[k 

(C) nksuksa 

(D) buesa ls dksbZ ugha 
48. ‘Hedonistic Calculus’ was created 

by : 
(A)   Bentham 
(B) J.S. Mill 
(C) Marx 
(D) Hegel 

 48. ^lq[koknh ekid ;a=* dk fuekZ.k fd;k x;k % 

(A) csaFke }kjk 

(B) tsŒ,lŒ fey }kjk 

(C) ekDlZ }kjk 

(D) ghxy }kjk 

49. According to J. S. Mill kinds of 
liberty are : 
(A)   1 
(B) 2 
(C) 4 
(D) 8 

 49. tsŒ ,lŒ fey ds vuqlkj Lora=rk ds Hkkx 

gSa % 
(A)   1 
(B) 2 
(C) 4 
(D) 8 

50. ‘Mill is the prophet of empty 
liberty’ is the statement of : 
(A)   Barker 
(B) Burke 
(C) Austin 
(D) Laski 

 50. ^fey [kks[kyh Lora=rk dk iSxEcj gSA* ;g 

dFku gS % 

(A) ckdZj dk 

(B) cdZ dk 

(C) vkWfLVu dk 

(D) ykLdh dk 
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51. According to Marx state is a : 
(A)   Divine institution 
(B) Necessary evil 
(C) Positive good 
(D) An instrument of exploitation  

 51. ekDlZ ds vuqlkj] jkT; ,d % 

(A) nSoh; laLFkk gSA 

(B) ,d vko’;d cqjkbZ gSA 

(C) ,d ldkjkRed vPNkbZ gSA 

(D) ,d ‘kks”k.k dk ;a= gSA 

52. “Class struggle theory” is 
associated with : 
(A)   Marx 
(B) Garner 
(C) Mill 
(D) Plato 

 52. ^^oxZ la?k”kZ fl)kUr** lEcfU/kr gS % 
(A) ekDlZ ls 
(B) xkuZj ls 
(C) fey ls 
(D) IysVks ls 

53. Marxiam socialism is also known 
as : 
(A)   State socialism 
(B) Utopian socialism 
(C) Scientific socialism 
(D) None of these 

 53. ekDlZ dk lektokn bl uke ls Hkh tkuk 
tkrk gS % 
(A) jkT; lektokn 
(B) dkYifud lektokn 
(C) oSKkfud lektokn 
(D) buesa ls dksbZ ugha 

54. Who among the following political 
leaders can be called exponent of 
‘Democratic socialism’ ? 
(A)   Mahatma Gandhi 
(B) Jawahar Lal Nehru  
(C) Indira Gandhi  
(D) J. P. Narayan 

 54. fuEufyf[kr esa ls fdl jktusrk dks 
^iztkrfaU=d lektokn* dk iz.ksrk dgk tk 
ldrk gS \ 
(A) egkRek xka/kh 
(B) tokgjyky usg: 
(C) bafnjk xka/kh  
(D) ts0 ihŒ ukjk;.k 

55. Which one of the following is not 
correctly matched ? 
(A)   Liberalism – State is an 

artificial institution  
(B) Socialism – State is a 

transitional phase 
(C) Anarchism – State is an evil  
(D) Communism – State is an 

ideal institution  

 55. fuEufyf[kr esa ls dkSu lk ,d lqesfyr ugha 
gS \ 
(A) mnkjokn & jkT; ,d Ñf=e laLFkk gS 
(B) lektokn & jkT; ,d cnyko dh 

voLFkk gS 
(C) vjktdrkokn & jkT; ,d cqjkbZ gS 
(D) lkE;okn & jkT; ,d vkn’kZ laLFkk 

gSA 
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56. Who among the following thinkers 
propagated ‘Organic theory of 
state’ ? 
(A)   Marx 
(B) Hegel 
(C) Green 
(D) Herbert spencer 

 56. jkT; ds Lo:i dk ^lko;o fl)kUr izeq[k 

:i ls fuEufyf[kr esa ls fdl fopkjd }kjk 

izLrqr fd;k x;k \ 

(A) ekDlZ  

(B) ghxy  

(C) xzhu 

(D) gcZVZ LisUlj 
57. Who gave the theory of 

‘Dialectical Materialism’ ? 
(A)   Plato 
(B) Aristotle 
(C) Marx 
(D) Hegel 

 57. ^}U}kRed HkkSfrdokn* dk fl)kUr fdlus 

fn;k \ 

(A) IysVks 

(B) vjLrw 

(C) ekDlZ 

(D) ghxy 

58. Match the following ideologies 
and concepts with their supporting 
thinkers : 
1 Utopian 

socialist 
I. Sydney Web 

2 Fabianism II. Robert Oeven 
3 Sarvodaya III. Gandhi 

Tick the correct matching option : 
(A) 1-I 2-II 3-III 
(B) 1-II 2-I 3-III 
(C) 1-III 2-II 3-I 
(D) 1-I 2-III 3-II 

 

 58. 
 
 

fuEufyf[kr fopkj/kkjkvksa ,oa vo/kkj.kvksa dks 

muds leFkZd fopkjdksa ds lkFk lqesfyr 

dhft, % 

(1) LoIuyksdh lektoknh &I.flMuh oSc 

(2) Qsfc;uokn  &II.jkcVZ vksosu 

(3) loksZn;    &III.xka/kh 

lgh lqesy dk fodYi pqusa % 
(A) 1-I 2-II 3-III 
(B) 1-II 2-I 3-III 
(C) 1-III 2-II 3-I 
(D) 1-I 2-III 3-II 

 

59. Who is the author of ‘Communist 
Manifesto’ ? 
(A)   Karl Marx 
(B) Lenin 
(C) Stalin 
(D) Mao 

 59. ^lkE;oknh ?kks”k.kki=* ds ys[kd dkSu gS \ 

(A) dkyZ ekDlZ 

(B) ysfuu 

(C) LVkfyu 

(D) ekvks 
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60. History of all the societies till now 
is a “History of class struggle” 
whose statement is this ? 
(A)   Karl Marx 
(B) Weber 
(C) Spencer 
(D) A. J. Todd 

 60. vc rd ds lHkh lektksa dk bfrgkl ^^oxZ 

la?k”kZ dk bfrgkl** gSA ;g dFku fdldk gS 

\ 

(A) dkyZ ekDlZ 

(B) oscj 

(C) LisUlj 

(D) ,ŒtsŒ VkWM 
61. Which among the following is 

correctly matched ? 
(A)   Idealism : Dictatorship of 

proletariat 
(B) Communism : Glorification 

of state 
(C) Liberalism: Minimalist state 
(D) Anarchism: State is a moral 

institution  

 61. fuEufyf[kr esa ls dkSu lk esy lgh gS \ 

(A) vkn’kZokn % loZgkjk oxZ dk 

vf/kuk;dokn 

(B) lkE;okn % jkT; dk efgekeaMu 

(C) mnkjokn % lhfer jkT; 

(D) vjktdrkokn % jkT; ,d uSfrd 

laLFkk gS  

62. Which amongst the following is 
not a name of political philosophy 
in Ancient India ? 
(A)   Rajdharm 
(B) Dandniti 
(C) Yog Shastra 
(D) Neetishastra 

 62. fuEufyf[kr esa ls dkSu lk ,d uke izkphu 

Hkkjr esa jktn’kZu dk uke ugha gS\ 

(A) jkt/keZ 

(B) n.Muhfr 

(C) ;ksx ‘kkL= 

(D) uhfr ‘kkL= 

63. Feature/Features of Ancient Indian 
political thought is/ are : 
(A)   Inclination toward spirituality 
(B) Predominance of monarchy 
(C) Both 
(D) None of these 

 63. izkphu Hkkjrh; jktuhfrd fparu dh fo’ks”krk 

@fo’ks”krk,¡ gS@gSa % 

(A) vk/;kfRedrk dh vksj >qdko 

(B) jktra= dh iz/kkurk 

(C) nksuksa 

(D) buesa ls dksbZ ugha 
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64. Two popular Assemblies of the 
Vedic period were :  
(A)   Sabha and Samiti 
(B) Sabha and Mahasabha 
(C) Gansabha and Sabha 
(D) Gansabha and Mahasabha  

 64. oSfnd dky dh nks yksdfiz; fo/kkulHkk,¡ Fkh 

% 

(A) lHkk vkSj lfefr 

(B) lHkk vkSj egklHkk 

(C) x.klHkk vkSj lHkk 

(D) x.klHkk vkSj egklHkk 
65. The Rigvedic Aryans were 

governed by a : 
(A)   Republican government 
(B) Monarchical government 
(C) Democratic government 
(D) None of these 

 65. _XoSfnd vk;Z ‘kkflr Fks ,d % 

(A) x.kra=h; ‘kklu }kjk 

(B) jktra=h; ‘kklu }kjk 

(C) tura=h; ‘kklu }kjk 

(D) buesa ls dksbZ ugha 

66. Which political views are 
represented by Manu ? 
(A)   Samajshastra 
(B) Arthashastra 
(C) Rajyashastra 
(D) Dharmashastra 

 66. euq fdl izpfyr jktuhfrd fopkjksa ds 

izfrfuf/k gSa \ 

(A) lekt’kkL= 

(B) vFkZ’kkL= 

(C) jkT;’kkL= 

(D) /keZ’kkL= 

67. Which is the oldest text of ‘Hindu 
Law’ ? 
(A)   Manusmriti 
(B) Ramayan 
(C) Mahabharat 
(D) Arthashastra 

 67. ^fgUnw dkuwu* dk izkphure xzUFk dkSu lk gS\ 

(A) euqLef̀r 

(B) jkek;.k 

(C) egkHkkjr 

(D) vFkZ’kkL= 

68. How many Parvas in 
‘Mahabharata’ are ? 
(A)   15 
(B) 16 
(C) 17 
(D) 18 

 68. ^egkHkkjr* essa fdrus ioZ gaS \ 

(A) 15 

(B) 16 

(C) 17 

(D) 18 
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69. Which of the following is not a 

part of Kautilya’s theory of Sap 

tang ? 

(A)   Swami 

(B) Shatru 

(C) Amatya 

(D) Janpada 

 69. fuEufyf[kr esa ls dkSu lk ,d dkSfVY; ds 

lIrkax fl)kUr dk fgLlk ugha gS \ 

(A) Lokeh 

(B) ‘k=q 

(C) vekR; 

(D) tuin 

70. Kautilya has suggested how many 

departments in his administrative 

system : 

(A)   10 

(B) 12 

(C) 15 

(D) 18 

 70. viuh iz’kklfud O;oLFkk esa dkSfVY; fdrus 

foHkkxksa dh O;oLFkk nsrk gS \ 

(A) 10 

(B) 12 

(C) 15 

(D) 18 

71. Who is called Machiavelli of 

Ancient India ? 

(A)   Manu 

(B) Shukra 

(C) Kautilya 

(D) Bhardwaj 

 71. izkphu Hkkjr dk eSfd;koyh fdls dgk tkrk 

gS \ 

(A) euq  

(B) ‘kqØ 

(C) dkSfVY; 

(D) Hkkj}kt 

72. Which of the following pair is 
correct ? 
 List - I List- II 
(A) Manu Hind Swaraj 
(B) Kautilya Arthashastra 
(C) Gandhi Manav 

Dharmshastra 
(D) Nehru Human cycle 

 

 72. fuEufyf[kr esa ls dkSu lk ;qXe lqesfyr gS\ 
 lwph& I lwph& II 
(A) euq fgUn Lojkt 

(B) dkSfVY; vFkZ’kkL= 

(C) xk¡/kh ekuo /keZ’kkL= 

(D) usg: º;weu lkbfdy 
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73. Which amongst the following 
theory is not related to Kautilya ? 
(A)   Saptang Theory 
(B) Shadgunya Niti 
(C) Resistance Theory 
(D) Mandal Theory 

 73. fuEufyf[kr essa ls dkSu lk fl)kUr dkSfVY; 
ls lacaf/kr ugha gS \ 
(A) lIrkax fl)kUr 
(B) “kkMxq.; uhfr 
(C) izfrjks/k fl)kUr 
(D) e.My fl)kUr 

74. Vijigeeshu state is a part of : 
(A)   Saptang Theory 
(B) Shadgunya Niti 
(C) Mandal Theory 
(D) Panchsheel 

 74. foftxh”kq jk”Vª vax gS % 
(A) lIrkax fl)kUr dkA 
(B) “kkM~xq.; uhfr dkA 
(C) e.My fl)kUr dkA 
(D) iap’khy dkA 

75. Which amongst the following is a 
part of Shadgunya Niti ? 
(A)   Treaty of peace 
(B) Hastility 
(C) Neutrality 
(D) All of these 

 75. fuEufyf[kr esa ls dkSu lk “kkM~xq.; uhfr dk 
vax gS \ 
(A) lfU/k 
(B) foxzg 
(C) vklu 
(D) mi;qZDr lHkh 

76. According to Arthashastra 
Dharmsthleeya and 
Kantakshodhan are the kind of : 
(A)   Organic theory of the state 
(B) Legislative Assembly 
(C) Court of Justice 
(D) Diplomacy 

 76. vFkZ’kkL= ds vuqlkj /keZLFkyh; rFkk 
d.Vd’kks/ku fdldk izdkj gS \ 
(A) lko;o fl)kUr dk 
(B) fo/kkulHkk dk 
(C) U;k;ky; dk 
(D) dwVuhfr dk 

77. Which theory of the origin of the 
state was discussed by Kautilya ? 
(A)   Divine Theory 
(B) Force Theory 
(C) Social contract theory 
(D) Evolutionary theory 

 77. dkSfVY; us jkT; dh mRifÙk ds fdl 

fl)kUr dh ppkZ dh \ 

(A) nSoh; fl)kUr 

(B) ‘kfDr fl)kUr 

(C) lkekftd le>kSrs dk fl)kUr 

(D) fodkloknh fl)kUr 
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78. Shariat Act 1937 came into 
operation on : 
(A)   4th April 1937 
(B) 4th May 1937 
(C) 7th July 1937 
(D) 7th October 1937 

 78. ‘kjh;r vf/kfu;e 1937 esa vk;k] tks ykxw 

gqvk % 

(A) 4 vizSy 1937 

(B) 4 ebZ 1937 

(C) 7 tqykbZ 1937 

(D) 7 vDVwcj 1937 

79. Islamic Law is formally contained 
in : 
(A)   Hadith 
(B) Quran 
(C) Ejma and Qiyas 
(D) All of the above 

 79. bLykfed dkuwu vkSipkfjd :i ls fufgr gS% 

(A) gnhl esa 

(B) dqjku esa 

(C) btek vkSj fd;kl esa 

(D) mijksDr lHkh 

80. Gokhle believed in : 
(A)   Religious to terance 
(B) Human Rights 
(C) Human Liberties 
(D) All of the above 

 80. xks[kys fo’okl j[krs Fks % 

(A) /kkfeZd lfg”.kqrk esa 

(B) ekuo vf/kdkjksa esa 

(C) ekuo Lora=rk esa 

(D) mijksDr lHkh esa 
81. Among the following on which 

base Gandhi and Marx differed 
from each other ? 
(A)   Social equality and Justice 
(B) Stateless and classless society  
(C) Use of Violence and force 
(D) Exploitation free and war free 

world 

 81. fuEufyf[kr esa ls fdl vk/kkj ij xk¡/kh ,oa 

ekDlZ ,der ugha Fks \ 

(A) lkekftd lekurk ,oa U;k; 

(B) jkT;foghu ,oa oxZfoghu lekt 

(C) fgalk ,o ‘kfDr iz;ksx 

(D) ‘kks”k.k eqDr ,oa ;q) eqDr fo’o 

82. Which one of the following is not 
a feature of Fascist state ? 
(A)   Racism 
(B) Democraticism 
(C) Authoritarianism  
(D) Dictatorship 

 82. Qklhoknh jkT; dh fuEufyf[kr esa ls ,d 
fo’ks”krk ugha gS \ 
(A) uLyoknh 
(B) yksdra=oknh 
(C) lÙkkoknh 
(D) vf/kuk;doknh 
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83. Who is the author of “Mein 
Kampf” ? 
(A)   Adolf Hitler 
(B) Mussolini 
(C) Periyar 
(D) Kaplan 

 83. “Mein Kampfds ys[kd dkSu gS \ 
(A) ,MksYQ fgVyj 
(B) eqlksfyuh 
(C) isfj;kj 
(D) dSIyku 

84. Which of the following represent 
the thinking of Jai Prakash 
Narayan ? 
(A)   Marxist and Communists 
(B) Democratic socialists 
(C) Sarvodayi 
(D) All of the above 

 84. fuEufyf[kr esa ls dkSu lk t;izdk’k 
ukjk;.k ds fparu dk izfrfuf/kRo djrk gS \ 
(A) ekDlZoknh ,oa lkE;oknh 
(B) iztkrkfU=d lektoknh 
(C) loksZn;h 
(D) mijksDr lHkh 

85. Where did Nazism first arise ? 
(A)   Italy 
(B) Japan 
(C) Germany 
(D) Russia 

 85. ukthokn loZizFke dgk¡ mRiUu gqvk \ 
(A) bVyh 
(B) tkiku 
(C) teZuh 
(D) :l 

86. Which of the following is true 
regarding M.N. Roy’s criticism of 
Marxism ? 
(A)   Materialism of Marx is 

unscientific  
(B) Marxian concept of 

dictatorship of proletariat is 
not practical 

(C) Marxian concept of class 
struggle is not true  

(D) All of the above 

 86. ,eŒ,uŒ jk; }kjk dh x;h ekDlZokn dh 
vkykspuk ds lUnHkZ esa fuEu esa dkSu lk lR; 
gS \ 
(A) ekDlZ dk HkkSfrdokn voSKkfud gSA 
(B) ekDlZ dk loZgkjk oxZ dk vf/kuk;d 

rU= dk fopkj vO;ogkfjd gSA 
(C) ekDlZ dk oxZ la?k”kZ dk fl)kUr lR; 

ugha gSA 
(D) mijksDr lHkh 

87. Who was the founder of the 
Fascism Party ? 
(A)   Adolf Hitler 
(B) Mussolini 
(C) George sorrell 
(D) Franco 

 87. Qklhokn ny dk laLFkkid dkSu Fkk \ 

(A) ,MksYQ fgVyj 

(B) eqlksfyuh 

(C) tkWtZ lkjsy 

(D) Ýsadks 
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88. “Democracy is the government for 
the people, of the people and by 
the people.” It is the definition of 
democracy given by : 
(A)   Dicey  
(B) Abraham Lincon  
(C) Barker 
(D) Gandhi 

 88. ^^iztkra= turk ds fy,] turk dk] turk 

}kjk ‘kklu gSA** iztkra= dh ;g ifjHkk”kk 

fdlds }kjk nh x;h \ 

(A) Mk;lh 

(B) vczkge fyadu 

(C) ckdZj  

(D) xk¡/kh 

89. Democracies today are :  
(A)   Direct 
(B) Indirect 
(C) Socialist 
(D) None of these 

 89. yksdra= vkt izk;% 
(A) izR;{k gS 
(B) vizR;{k gS 
(C) lektoknh gS 
(D) mi;qZDr esa ls dksbZ ugha 

90. Among the number of devices of 
direct democracy which two are 
most popular ? 
(A)   Referendum and initiative 
(B) Election and political parties 
(C) Political parties and press 
(D) Lands gemeinde and 

parliament  

 90. izR;{k yksdra= ds vusd lk/kuksa esa ls nks 
izeq[k lk/ku gSa % 
(A) yksdfu.kZ; vkSj vkjEHkd 
(B) pquko vkSj jktuhfrd ny 
(C) jktuhfrd ny vkSj izsl 
(D) izkjfEHkd lHkk vkSj laln 

91. Which among the following is 
called as the fourth estate of 
democracy ?  
(A)   Press 
(B) Executive 
(C) Legislature 
(D) Judiciary 

 91. fuEufyf[kr esa ls dkSu yksdra= ds pkSFks 
LrEHk ds :i  esa tkuk tkrk gS \ 
(A) izsl 
(B) dk;Zikfydk 
(C) O;oLFkkfidk 
(D) U;k;ikfydk 

92. The pluralist theory of democracy 
is associated with : 
(A)   Laski  
(B) Lipset 
(C) Dahl 
(D) All of the above 

 92. cgqyoknh yksdra= lacaf/kr gS % 

(A) ykLdh ls 

(B) fyilsV ls 

(C) Mgy ls 

(D) mi;qZDr lHkh ls 
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93. Which one of the following is not 
important feature of democracy ? 
(A)   Liberty 
(B) Hereditary 
(C) Equality 
(D) Social Justice 

 93. fuEufyf[kr essa ls dkSu lk ,d iztkra= dk 

egRoiw.kZ rRo ugha gS \ 

(A) Lora=rk 

(B) oa’kokn 

(C) lekurk 

(D) lkekftd U;k; 

94. Which of the following ‘demerits’ 
is not found in democratic system 
of Governance ? 
(A)   Possibility of governance by 

incompetent people  
(B) Existence of all the ill- effects 

of party systems  
(C) Existence of irresponsible 

governance   
(D) Ample opportunities for 

corruption  

 94. fuEufyf[kr esa ls dkSu lk nks”k iztkrkfU=d 

‘kklu iz.kkyh dk ugha gS \ 

(A) v;ksX; yksxksa ds ‘kklu dh lEHkkoukA 

(B) nyh; iz.kkyh ds lHkh nq”izHkkoksa dk 

fo|eku gksukA 

(C) vuqÙkjnk;h ‘kklu dk fo|eku gksukA 

(D) Hkz”Vrk ds i;kZIr voljksa dk gksukA 

95. Who among the following is called 
first democratic thinker ? 
(A)   John lock 
(B) Rousseau 
(C) Plato 
(D) Machiavelli 

 95. fuEufyf[kr esa ls fdls izFke iztkrkfU=d 

fopkjd dgk tkrk gS \ 

(A) tkWu ykWd 

(B) :lks 

(C) IysVks 

(D) eSfd;koyh 

96. “Truth is God” Whose ideas are 
these ? 
(A)   Tagore 
(B) M. N. Roy 
(C) Gandhi 
(D) Lohia 

 96. ^^lR; gh bZ’oj gSA** ;g fopkj fdldk gS\ 

(A) VSxksj 

(B) ,eŒ ,uŒ jk; 

(C) xk¡/kh 

(D) yksfg;k 
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97. Which of the following is not a 

principle of Gandhian philosophy? 

(A)   Truth 

(B) Non-Violence 

(C) Neutrality 

(D) Morality 

 97. fuEufyf[kr esa ls dkSu lk ,d xka/kh th ds 

n’kZu dk fl)kUr ugha gS \ 

(A) lR; 

(B) vfgalk 

(C) rVLFkrk 

(D) uSfrdrk 

98. Which of the following type of 

Non- Violence is not discussed by 

Gandhiji ? 

(A)   Non- Violence of powerfuls 

(B) Non - Violence of cowards 

(C) Enlighted non- violence 

(D) Reasonable non- violence 

 98. fuEufyf[kr esa ls fdl izdkj dh vfgalk dk 

o.kZu xka/khth us ugha fd;k \ 

(A) ‘kfDr’kkfy;ksa dh vfgalk 

(B) dk;jksa dh vfgalk 

(C) tkxzr vfgalk 

(D) vkSfpR;iw.kZ vfgalkA 

99. ‘The Ideal state’ according to 

Gandhiji would be like : 

(A)   Classless state 

(B) Ram Rajya 

(C) Socialist state 

(D) Marxist state 

 99. xka/khth ds vuqlkj ^vkn’kZ jkT;* dSlk gksxk 

\ 

(A) oxZfoghu jkT; 

(B) jkejkT; 

(C) lektoknh jkT; 

(D) ekDlZoknh jkT; 

100. The Bhoodan Movement was 
launched by : 
(A)   Vinoba Bhave 
(B) Mahatma Gandhi 
(C) Rammanohar Lohia 
(D) B. R. Ambedkar 

 100. Hkwnku vkUnksyu ‘kq: fd;k Fkk % 

(A) fouksck Hkkos }kjk 

(B) egkRek xka/kh }kjk 

(C) jkeeuksgj yksfg;k }kjk 

(D) chŒ vkjŒ vEcsMdj }kjk 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


